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Section 1 - Paperl-English Lanquage

1) Select the correct option.

You are nothing but old orthodox man.

sr Techofworld.In
C)an
D) no article

2) Fill in the blank with the correct option.
How many are in your school bag?

A
B
C
D

eraser
pencil
books
notebook

—_— e —

Read the following passage and answer the questions
that follow:

Comb honey is honey intended for consumption which is
still contained within its original hexagonal-shaped
beeswax cells, called honeycomb. It is eaten as produced
by honey bees and has received no processing, filtering,
or manipulation. Fresh, new comb is sold and used intact
as comb honey, especially if the honey is being spread on
bread rather than used in cooking or as a sweetener.
Before the invention of the honey extractor almost all
honey produced was in the form of comb honey. Today,
most honey is produced for extraction but comb honey
remains popular among consumers both for eating 'as is'
and for combining with extracted honey to make chunk
honey. Hobbyists and sideliners can develop their
beekeeping skills by producing comb honey, which takes
more rigorous attention to beekeeping than the production
of extracted honey. Because of the more demanding labor
involved, comb honey has greater retail value than
extracted honey. ($17/pound compared to $6.50/pound
US). Comb honey production is more suitable for areas
with an intense prolonged honey flow from eucalyptus,
alfalfa, alsike, and yellow clover. Wooded areas are not as
suitable for comb honey production, as bees tend to
collect more propolis, making the harvesting of comb
honey more difficult. This problem has been largely
circumvented with the adoption of specialized frames,
such as the Ross Round frame, which prevent
accumulation of propolis on saleable units. Populous
honey bee colonies are usually reduced to single hive
body at the beginning of the honey flow when one or more
comb honey supers are added.

Comb honey can either be produced in wooden sections,
shallow frames or Ross Rounds. The successful
production of comb honey requires that the hive remain
crowded without inducing swarming. Young prolific
queens help rapid colony population expansion with less
likelihood of swarming. Caucasian honey bees are often
preferred for their tendency to keep a constricted brood
nest and for their production of white wax cappings,
making more attractive honey combs.

3) One of the uses of comb honey that can be used is?

A
B
C
D

Sweetener
Condiment
Flavouring agent
Spice

—_— - —

4) Specialized Ross round frames are used to

A) reduce swarming of the hives

B) provide favourable environment to the bees
C) help the bees to produce white wax cappings
D) prevent accumulation of propolis

5) Chunk honey is made by

A
B
C
D

harvesting comb honey made by Caucasian bees
extracting comb honey from shallow frames
collecting the honey flow of yellow clover plant
combining extracted honey and comb honey

- —

6) Caucasian honey bees are often preferred because
they

A) don’t expand their brood nest

B) don’t collect propolis

C) secrete top quality honey

D) adapt quickly to Ross round frame

Techofworld.In
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7) Comb honey is more expensive than extracted honey
because of

A) the organic value of comb honey

B) the hardwork involved in beekeeping
C) the comb shape

D) its chunkier taste

8) Select the correct form of verb from the given options.
I am very happy, my favourite singer

tomy
city next June for a concert.

A) will be coming

o il come Techofworld.In
C) is coming

D) would be coming

9) Choose the most appropriate similar meaning word:
NEUTRAL

A
B
C
D

Prejudiced
Involved
Unbiased
Predisposed

~—~ ~— ~— ~—

10) Find the most appropriate opposite meaning word:
EXODUS

A Migraon Techofworld.In

)

) Influx
C) Restoration
D) Return
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Section 2 - Paperl-Education and General Awareness

11) For the first 10 years of education, which of the

following breakup was proposed by the National Policy on
Education, 19867

A) 5+4+1
o) iz Techofworld.In
D) 6+2+2

11) 929l 10 QF QI GFAIQ 696 697 2T, NIAFIR ART 2e
Ngeade, 1986 9Ial 9T 6210amI?

A) 5+4+1
B) 4+4+2
C) 5+3+2
D) 6+2+2

12) Which of the following is NOT a mandate of University
Grants Commission in India?

A) Serving as a vital link between the Union and state

governments for primary and secondary board of
education

B) Monitoring developments in the field of collegiate and
university education

C) Advising the Central and State governments on the
measures necessary for improvement of university
education

D) Determining and maintaining standards of teaching,
examination and research in universities

12) APUQ 6966 gARdS 914 aFARa I Q6% ?

A) giadie 6 arIFe 81 988Q AR, 68919 8 QIFY AR
AIER GREgd Qe 6291 gRIR @GS

B) 2111091 9e° §93uea J9I Qg 96w @ Gal8 Fa18d
8l

C) Ggauiea 491 6a QIIQ FEQ1 AR 699 I8° AURY AARIAT
qIgedial gaie eael

D) Q93@un0 6 S, 9191 8 969941 @ 2R Q AFAVE R
8 38160 QAR

13) Trachoma is an infectious disease which affects the

A) Ears
B) Larynx
C) Eyes

)

D) Brain

13) GIERIFI 8 A°GINS 615l QL Q 2IGFS Qe

A) qie

C) aig

)

B) aal
)

D) ags

14) Which of the following writs mean 'You may have the
body'?

A) Habeas Corpus
B) Quo Warranto
C) Mandamus
D) Certiorari

14) 3¢ A9 9@ FIQ RRIA ¢ 6298 'Y 671 2] & 982

A) cedaq @dq

B) 6qul clausal

C) aaiag
D) cadsaid

Techofworld.In

)
)
)
)

15) Which of the following commissions proposed, the
aims of university should be to produce able citizens who

can take up national responsibilities successfully in
various fields?

A) National Commission of Education, 1986

B) National Commission of Education, 1968
C) New Educational Policy, 1986

D) University Education Commission (1948-49)
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15) G¢] @OQAAIAE C1Q @ JaIQ 69006 69 FIGIIRAR
AR 6291 QGG 60 AR FIIER FER 699 FlI6e GER 69G6R
RIG18 QIFQ @ IPIQ Q6T PRI AIRE]?

A) QUIQgIR QIR 2T 1g6aas, 1986 TeC h OfWO rl d . I N

)
B) quiaqin @8as 2 9geads, 1968
C) 39 9g6R2aIn and, 1986

D) gfedd ugende afiaq (1948-49)
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Section 3 - Paperl-Reasoning

16) Instruction:

In the following question, mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il.

4, if the question can't be answered at all.

How is Helena related to Abrian ?
Statement | : Bruce is the brother of Abrian.

Statement Il : Abrian is Helena's brother.

T2
N R oW

Techofworld.In

o O

16) F6L9IOR!: FARYS gg6a
1 526 Q0g 9@ 6297 71294 | AILIWIER J4Q 20 FAARAQE
|

2 596 @98, 99 6Ra7 (1214 || ALCAITER 4 2@ FUIAR
JdIQE |

3, 90 a@g | 9e° || A26IF6Q 940 Qe GAILIR AIQE |
4, 98 g4Q QR0 626@ @ TALIR AFS AIL |

21528 AL 626MNAIR AWH@ @4l ?

agey |: 99, AIFAURA AR |

a8ay Il : 2GR 620G 626RRIQ QI |

>

CZ 2z
N Ao oW

)

17) What is the time taken in seconds by a 180 m long
train travelling at a speed of 270 kmph to fully cross a
milestone?

17) QQIQE 270 F6RIFSA 696160 67 @92al 180 foq @1 9@
69] @ FIRRCAIR 2TGF AAQIQ 6R6E 6A6RS 67Q?

A) 3.3
B) 2.7
C)2.4
)2

)

18) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:
All smartphones are phablets.
No phablet is tablet.

Conclusions:
[) No smartphone is tablet.
II) All phablets are smartphones.

A) Only | follows

B) Only Il follows

C) Both I'and Il follow

D) None of the conclusions follow

Techofworld.In
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18) G6RIQRT. 067 QULIRLRI ABN A8g @8 G

QUYRE | 26g TR F13Q4Yg AGY 611N AIFAIg AT
QTG § 18l ARIIAEIER FENYRT FAO0IQ B2 6RHIARRIN | ALY
Aadq 0eg e Ia6a A9@ fag, QuIKIRgel fad aug
62961 ARIRLIER RIS FeNQ ALANAR QR F8R4g OR
QI6Q UGAQE RQF |

A2QY: AQ FIF 6TIQ o TINEATY | 6@IET TIFERT FIEAT
Q6% |

aad:
1) 65163 ITETIR TIREAF GEE |

1) AQ TIFERG Yo FITETIR |

A) 6297 | 2ga08 @0g

B) eaqq Il 2920d @98

C) a@a 1 9e° |l 29908 90g
)

-~ = =< —

D) 67161 & Adiag 29aed @eg QIF

19) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

Some wallets are watches.
Some watches are belts.
All the belts are shoes.

Conclusions:

I) Some shoes are watches.
II) Some belts are wallets.

1) No belt is wallet.

IV) Some watches are wallets.

A) Only I and Il follow

B) Only Il and IV follows

C) Only Il and lll follows

D) Only I, IV and either Il or lll follows

19) F6RGIART: 067 GRS 18N Jgq 78 Fad GRS |
2IA9F GULIRIYR! F18QY] AGY 6IM IR U8 IG3 G @l
ARIRIER RENERI BAYOIQ BR CQHIAIRLAN | ANY Fad] AL
4&° QIg6Q GAR Gag, QARSI FAd AR 69LT! ARG
R612JQ1 GeIQ ARFIRRT @RER 18R OF QIER AGANE @RS |
FI8QY: AT Gl6nQ 6208 Q4 | 8 A 6208 6QNC | AQ 68N
o 6aIS! |

fad:

) @F 69101 Jo@ QA4 |

Il) G8 69RC 6208 Gl6AT
IIl) 65163 69RE GI6RT 6 |

IV) @8 Q&I 62Q8 @l6nq |

A) 6% | 9&° 11 29208 @93 |

B) 6@ 11 9e° IV 29209 @0g |

C) 6aaq 11 9e° 11l 24928 @9 |

D) 6@ |, IV 4e° 11 @91 11IQ 6015 298 @99

20) In a certain code language COLORADO is written as
NMJMPYBB. How is CREATION written in that code
language?

A) MPCYTGMB
B) BPCYRGMM
C) MPCYRGMB
D) BPCYTGMM

20) @ Q0] A6wE@ sIea COLORADO @ NMIMPYBB
QR ERYIPIRE | 628 ACEES QIS CREATION q @o@
EMYEQ?

A) MPCYTGMB
B) BPCYRGMM
)
)

oveovrawe  T'achofworld.In

D
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Section 4 - Paperl-Teaching Aptitude

21) A child creates his own concepts and knowledge
based on the information he gets from outside sources.
This means that he learns through the method of

A) rote learning

B) memorization

C) construction of knowledge
D) creation of knowledge

21) @681 AQUIEl QITIQ A2Q 1Y G2 ARIIAEA FFQ ARG @
RIG 9B Q6Q | 92IQ 22l 62 699 ARFER FYS ?

A) saiSal TeCh OfWOI'|d . I N

)

B) ga4 ag<l

C) 819 908 @Q<!
D) 818 292 @44l

22) Which of the following agencies of education should
set ideal examples of co-operation, fellow-feeling, social
service, sympathy, sacrifice, tolerance, friendliness etc.
before children to emulate and imbibe them for the

development of their personality and the well-being of the
society?

A) Community
B) Library
C) Radio

D) Museum

22) 391Q 76618 AAUYRS FIQ 6066 TRAIAE ZIG6a 1geq
RS KAQI Ie° g2¢ *AQI GrI68 AV6TIS, AR AR, AIFIS

629!, AFERLR, QUIF, ATFYS!, YT AP QS ARILAS AITR
QAR RGQ?

A) aqe
B) aioigia

)
eo%  Techofworld.In
)

D) argziea

23) Which of the following is NOT one of the foundational
skills of language (English) learning?

A) Writing
B) Listening
C) Reading
D) Understanding

23) @68 F11IQ 6290 QIS (R°QIRT) JYIQ 651AR 6a18IR g6

24) Read the following statements and choose the
CORRECT option.

(i) The formal kind of education can be scientifically and

consistently provided to a large number of children
simultaneously.

(i) A new concept of distance education known as m-
learning is a mode of formal education.

A) (i) is FALSE and (ii) is FALSE
B) (i) is FALSE and (ii) is TRUE
C) (i) is TRUE and (ii) is TRUE
D) (i) is TRUE and (ii) is FALSE

24) F6C1IR QIRY 9P U993 1° 0] a9 0Ae *9g|

(i) BoeRe 9eIea S9I GRIe ARG 9e° FAgq AINEA
IRRIRIR IARIRIR 98 HIQ ge 9919 FAIIIRARS

(i) -RE° QIFEQ RSIGEI 99 VIR IR §oR ARG
QeI QIR 9@ 99

A) (Yam 9e° (i) an
B) (i) @@ <° (i) OR
C) (i) O &" (i) OR
D) (i) & e° (i) g

Page70f23
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25) In order to reach at behaviour modification, the
teacher should

A) ignore all wrong behaviour

B) encourage the wrong behaviour
C) check all wrong behaviour

D) not be bothered at all

25) 2I9Qd 9REe 98, IR K8 AARl ] ?

A) 202 O 2IFAER AN KRR
B) @@ 2I0ad AR RAIEE @669

C) 9012 @R AR GRS A6
D) 2le@l 680 6269 Q18

26) Which of the following options is INCORRECT with
reference to the development of negative traits in students

due to the long term and insensitive use of corporal
punishments in schools?

A) Loss of interest in learning

B) Fear and anxiety

C) Social misconduct

D) Higher academic performance

26) GUIRACA QLI 1AFAAIQT YQ° 2ACFRAIIR SRR

Q9a QIAY 6QIg FMEFIRT FUER FRAYR AJIQ RIS
Q0E6R AR 699 FR8E QM 26T

A) 91099169 @5 QIS

B) @@ e° agas!

)
)
C) ar@e gaioia

D) @eoq 9196 gada

27) Why are traditional teaching methods followed in the
rural and government schools?

A) Traditional teaching methods strain the students

B) In traditional teaching methods teacher requires
special technical knowledge

C) Traditional teaching methods use a LCD projector in
the classroom

Page80f23

D) Traditional teaching method is cheaper than the
modern teaching method

27) I8l B ARRIA INRAYERER FLG AR FVNAUIF
JRG AQAQE KQUAN?

A) Qia¢ite dRIQIe 986 SIS 2IY AU6Q 919 AR

B) cio¢tite dQIele 9eG6q d9eg S689 650IR RIRQ
2GR 62IRAN |

C) aiestiae 819l ARG9ER6A 654619260 NATE 6I69qa
RLIQ FAUAN

D) Qie¢iae SRIQIe 986 2yGe dRIRIe 986 0IQ 93l

28) Which of the following options is FALSE with
reference to the aims of education in India as formulated
by Secondary Education Commission in 1952-537?

A) Development of Democratic Citizenship

B) Improvement in Adult Female Literacy Rate
C) Improvement of Vocational Efficiency

D) Development of Education for Leadership

28) 1952-536Q qlifia d81 @A9R, 9Ial 9g0 A6 JAR
QY 6996 F67IB I 699 IRFIFR QR?

A) GE01R9 Sl 9l
B

)
) @9 AER AIVGG! 2R 9F
C) QR01e 09016a 86

)

D) 62gQ G168 dRIQ Gal8

29) The concept of self image and self worth was given by

A) Edward Thorndike
B) Abraham Maslow
C) Howard Gardner
D) Carl Rogers

Techofworld.In
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29) 2191 84 6 27 MY AU & QIR @M ?

A) 9gae adeR] TeChOfWO I’ld . I n

C) 62190 QIFeq

)

B) ager agem
)

D) @R QIR 6qued

30) Which of the following options is TRUE with reference
to the tool/technique called 'Force field analysis' applied in
a school environment?

A) It is a budget management tool that the schools can
use to manage their infrastructure requirements

B) It is a change management tool used to motivate
people towards change and understand resistance

C) Itis a useful time management tool which helps in the
analysis of the school time periods

D) Itis an analysis tool that helps in analysing a student's
calibre and provides feedback for improvement

30) FQUIRLEQ IGLIA FAIIRAGS| QAKAE/6RNER QILIG '6Trid
Fae ARRA QRIAN, 62 AQE6R FIFQ 608 daed a0
266 2

A) ¥2I 99 Q4G G A1 AARIRGI 6IR AR FMIRLIFR
6QMRE §@ QORI IQNIRT! JATIRFIER QLRI KRN

B) W2l 1@ 066ee 9a0IRal 6716R QIIg 6RAIRAING J69a9
2I9Q 6960 RARI 9e° gFearIq GRS dIR QI9LIa AAUAIR
el

C) 9@l 9@ 29691 ATY AALINA! 6Rlde LR FRA
ANAQICN F648G6Q ALY REQR

D) 9@I e G648¢ 6aldn AI2IF SQuIg1RIae QI G64S8I6Q
QAQIYY F6Q 9° RIQ AR ORI ILIF F6Q

Page90f23
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Section 5 - Paperll-Odia Language

31) 'QI0@Q QIO Q&da g @'¢l ? 35) AARYS FIQ 689 AAAEG 6AIFERER ‘UG’ F95a FaRIG

21l 99IRQ ?
A) QI0 cIITER Q1Y
B) ¢ @08 @91 A) g6
omnen  Techofworld.In  2¢
D) ags @I¢ C) ag
D) aa
32) BIRHE FRIQ 6006 IR OFG §R ?
36) SORYG FRIQ 6RRE QG IRQ FAQIS 9 ?
A) da
B) Q9 A) EIQI"Qﬁi
C) asa B) a8
D) speliei C) arqd
D) aye

33) GIRYe IR 6RGF AAMR QoR I JoYR 2U6e ?

37) FIRYS IR 6966 @ 6] AF 9 26e ?

- A) Q@41
5 o B) Go
o C) a0
o) D) ceia
34) AAIFQ 606 Q2128 | AEmS 69 g A0R 69 o9) FARHO am e S awe 0" ag e aesT
919 §54 A9 JoSI /9 | A) g
A) g@Ql o)
mava | €CHOfwoOrld.In ©) a9
C) g@el o)as
D) aiga|

Page100f23
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40) AIRYS I 6896 ‘AR’ F9a FAAIG 2CIRIA §R ?

« | echofworld.In

41) FIRYS 699 YIIaG 1@ 24, ?

42) FORNYG F1IQ 68Q6 C16RIGIRY FEATY 26 ?

QU

oY)
oh)
2

D

_ S —-=—

)

o
Dy
D)

)

)

43) '99gd 62Q0 QE5Q 2 @& ?

A) 2990 62<
B) qeeqiq a@a!
C) 2@ Q% *EQ!
D) gigeqal

44) GIRYS I 689G WURFR’ F9Q AFAR §R ?

A) Qg1
B) cuge TeChOfWOHd . I n
C) aga
D) a@e

45) '9RQ" 995 62 AIQ 8 63Q JNAR 65 600 62IRE?

A
B

) GR+Q
) Q+R+@

C) aR+a+a
D)

FP+Q+E

Page110f23
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Section 6 - Paperll-Mathematics

46) A sum of money doubles itself at compound interest
in & years. In how many years will it become 8 times?

A) 15 years
oo Techofworld.In
)

D) 20 years

46) 691N QI 6998 Q6a 5aT6a Y9I 99, 696@ 6@6S
Qg6Q gl 898 6297

A) 15 Q9
B) 10 o
C)18ad
D) 20 o
47) Let N be the greatest number that will divide 305, 665

and 905, leaving the same remainder in each case. What
is the sum of the digits of N?

O T >

)
)
)
)

=)
A OO wwm

47) 9G 305, 665 ¥e° 9059 FeIee @Qeel Qe A°a N ¥e°
QI g60YR 6986Q AR QUNEIY QeI GIal 626m NQ
AFYERQ AN 60667

Techofworld.In

48) If 325 car models have automatic transmission, 216
have power steering and 89 have both, then how many
car models have at least 1 of the features?

48) 9@ 325 § Q19 FI60NER 26HI6ATE GIRAde 215, 216 & 6

dIgIQ F2AGEr AT 6 89 6Q QLKL AT, 696Q 6R63IT QIR FEPNER
G @e16Q 1 G 65dqY ag?

A) 452
B) 523
C) 352
D) 432

49) If x+ y=4 and 2x - y = -1, then the value of x, y are

Page120f23
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50) Ananth and Benaka enter into a partnership and
Ananth invests Rs. 10,00,000 in the partnership. At the

end of 4 months he withdraws Rs. 2,00,000. At the end of

another 5 months, he withdraws another Rs. 3,00,000. If
Benaka receives Rs. 9,60,000 as his share of the total
profit of Rs. 19,10,000 for the year, how much (in Rs.) did
Benaka invest in the company?

A) 8,00,000

C) 9,00,000
D) 10,00,000

50) 2193 I9° 6999 IR AIGIRIAIEQ J69E RER YG° RS A6
Rs. 10,00,000 56219 @Rl 4 €A 6886 64 Rs. 2,00,000
2lel goILIa @Rl 9eeR! 571 96a 6 2R Rs. 3,00,000 o
JoUIZIQ ARl QY 6496Q 6997 AR AR Rs. 19,10,000

FeIQ 9 QI8 Rs. 9,60,000 IoRI 6068 6250 QHIAIER 660
(Rs.6Q) @F6QIa @Qaml ?

A) 8,00,000
B) 12,00,000
C) 9,00,000
D) 10,00,000

51) If 88% of 370 + 24% of 210 - x = 118, then x =

51) 9@ 370Q 88% + 210Q 24% - x = 118, G 626m X =

A) 258
B) 528
C) 582
D) 285

B;) oo | @Chofworld.In
)

52) After simplification, the expression a(a + 4) + 3a® - 2a
+ 10 simplifies to

A) 3a%+4a+10
B) 5a%+2a+6

C) 2a2+2a+10
D) 4a%+2a+10

52) AR1@Qd 6291 6@, ANeqd a(a +4) + 3a%-2a+10Q
dAnge Qd 689

A) 3a%+4a+10
B) 5a%+2a+6

C) 2a2+2a+10
D) 4a%+2a+10

53) Find the radius of the base of the cylinder, if its volume
is 1,03,488 cm? and height is 42 cm

53) 9@ 1@ IREQ Q 99Q 1,03,488 61 6 @@el 42 615 I,
666Q QIRIR 699 Q 2T QU § QITIQ FAG|

A) 30 6Qd

)
B) 32 6afi
C) 33 6af
D) 28 6adi

54) If the ratio of the LCM and HCF of two numbers is 18
and their product is 288, then LCM and HCF of the two
numbers are respectively

A) 36 and 16
B) 72 and 4
)
)

axads 1 €Chofworld.In

D) 144 and 16
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54) Qa6 Q°HYIQ R.ALY ML° 9.A1.GR AU 18 9Q° 6QAIFTR

QIR 288, 6961 QAG A°HIIQ A.ALG N6° 6.5 AFES

A) 36 9e° 16
B

C)369e°4

D) 144 9@° 16

55) If (x+5)? = 100, the possible value of 'X is

>

-15

w0
RN

Q)

)
) 15
) -5
) 10

)

55) 9@ (x+5) = 100, 606@ 'X'Q AAIQY (Y 6208

56) What is the side of a square, whose area is equal to

the area of a rectangle whose length is 20 cms and
breadth is 5 cms?

A) 15 cms
B) 10 cms
C)5cms

D) 20 cms

56) U@ Q6 QI2IQ 689U 20 627 6344 6 5 627 g9 G498 @
2IRCENRR 6F9TR ATG AFIR, GITIQ QI 6R6S 6297

A) 15 628
B) 10 6@
C) 5 6ad

D) 20 6ad

)
zws | @chofworld.In
)
)

57) If set A has 3 elements and set B is a null set, then
how many elements will be there in their intersection set?

57) 9@ 629 A @ 3 § QQIQIR 8T 6 636 B e SR 646, 666
QMR 689 6296Q 606016 AUIAIR AEa?

58) Amruth collected Rs. 100, Rs. 50 and Rs. 10. The ratio
of these currency notes are in the ratio 3 : 5 : 7 and the
total value of currency is Rs. 4960. If the number of Rs.
100, Rs. 50 and Rs. 10 currency notes are reversed, then

what would be the new total value of currency in the bag
of Amruth?

A) 4960
B) 7840
C) 6480
D) 8000

58) &¢Je Rs. 100, Rs. 50 \4&° Rs. 10 2°g2 @Rl M€ (QI9eea
6919 3: 5 : 7 Q06 2T e° AR I M Rs. 49601
9@ Rs. 100, Rs. 50 ¥e° Rs. 10 9IQ 2gdie 8ReIa G2lIKg
606Q 2CION QISR 6R6R MY OR A QY (19! 9@e?

A) 4960
B) 7840
0y Techofworld.In

D) 8000
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59) A square with a side of 2 m has a circle inscribed in it
and in turn this circle has a square inscribed in it. If this
square also has a circle inscribed in it, what is the area of
the second circle? (Take M =22/7)

A) 11/14 sq.m

s s [ @chofworld.In (x+20)

)
)

C) 22/14 sq.m
)

9
L ]

D) 1sq.m C
QARSI 5L6Q "X’ Q MY Q&G AR 26T |
59) 2 ieQ A4 399 6916\ QHERQ EE6a IR 98 ARG 62Ia8
e° 1@ 98 G969 IR S968g 2GS 62Iad | 96 1@ adieug A) 55
C1IEA R 9R AT 62T 606Q T QRAACIGTR 60667 B) 35
B C) 40
(M =22/7 QWA 72Y) D) 50

A) 11/14 @9 deQ

B) 11/28 @4 ficq

C) 22/14 a4l g
)

D) 1 @d fiea

60)

Techofworld.In

w
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Section 7 - Paperll-Social Science

61) Which among the following statements is the
CORRECT explanation for the term parallels?

A) Parallels are lines of longitude
B) Parallels are lines of latitude

C) Parallels connect the north and south pole of the
Earth

D) Meridians are also known as parallels

61) GORYE QRYER AUQ 691 QBT ANITERAN AN
A0R 2 gl QQ& ?

A) QI 699lIg ANIVEAHI LI
B) a@rd 604l A0S 696!l QRIAN
)
)

C) QeInsas! 9a91a 2aRsaq 8 @F66raQg 6dId @deld
D) ci@e 6081 F1dl AAIY 608 QRIAN

62) "Suspension of fundamental rights during emergency"

of the Indian constitution is borrowed from which of the
following countries?

A
B
C
D

United States of America
France

Germany
United Kingdom

~— ~— ~— ~—

62) QIAGTa ARG “‘FRAIRIRIY JGEG6R 6AlRa ZeIR
QIR FIRYS 694 FUIQ AR AAIRQ ASIARE?

A) geqIg 2Ieraa!
B

C) ediq1

)
)
)
D) g@qisy

63) Jhabua district of Madhya Pradesh is a famous

example for which of the following resource conservation
efforts of man?

A) Prevention of soil erosion

B) Conservation of mineral resources
C) Reverse land degradation

D) Conservation of wildlife

Page160f23

63) FIGEQIQ KIQAUIFRI, F9FY FIQI LAFE FALIR QIS
609 ARA ¥ ARRY AILQE 266"

A) aRl 2082 FARRE
B) ¢dic aqgea a°aed

C) 21080 &f 29904
D) Q&augisn aeaee

64) Which of the following options refer to the composition
of the upper layer of the Earth’s crust?

A)
B) Oceans
C) Sial
D)

Sima
Continents

64) 67118 F1UIQ 6760 PARA AAQ IQ?

™ Techofworld.In

65) At which point on the Earth the distance between two
meridians is maximum?

A) Poles

)
B) Tropic of Cancer
C) Equator

D) Arctic Circle

65) Q2Ia1a 6% G96a QAG TR 6adll FII6R QAG! AR
266?

A Gﬂ@
B

)

)

C) dge 6adll
D) aeasag
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66) Most sophisticated tools were found in which of the
following ages?

A) Mesolithic Age

B; Paleolithic Age TeCh OfWO rld . I n
C) Neolithic Age
D) Modern Age

66) 2@ AAYE AR SRS AR 674 YR FgaRI?

A) 696QREIR GO
B) gk ga

C) aeaisisl 99
D) aiyde gel

67) The boundary between the troposphere and the
stratosphere is called the

A) Stratopause
B) Mesopause
C) Tropopause
D) Exopause

67) 969I30Q 8 FEFIRLA Q LT ULRQ Q& QRIPN ?

A) gi601@9Q

)
B) ec6ai@aa
C) ceaida
D) 16g@9Q

68) According to the Indian Constitution, what is the
maximum number of members in Lok Sabha who
represent the Union Territories?

Page170f23

68) @IeeTal AARIR UGAIER CRIAIRI 60 6Q6E TGS AQQY
Q°Q QIRY 689G § YEFQ *RIT?

69) A change in the constitution can be brought about by
a simple majority, in which type of constitution among the

following options?
A) Flexible
B) Rigid
C) Simple
)

D) Difficult

69) F67IBTNAT FRIQ 69Q JRIQ AAIFER 62T IR ARIQE
QY SRFGI FIQI ARRIIFER IRRAR 2EIYIRAIGR?

A
B

) @AR18,
) @601
C) aaw
D) ¢G@

70) Which of the following words in Sikh means the path

of righteousness and proper religious practice?

A) Granth
B) Gnyan
C) Dharm
D) Sangh

70) &g6a FORYE FQ 699 99 28l ARG 9G° AFS JIFR
2Qud?

.- Techofworld.In
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71) The famous astronomer Galileo Galilei was born in 73) 71214I9Q6Q 200 AFRIA IR U6Q Y9I 03 TR 25
which of the following countries?

BURGS (12IQ 609 9RINA ARA ALY QLS 266 ?

A) France
A) o
® Grooc Techofworld.In 2 weoan
aly )
D) Germany C) aadiela aqe
D) aQ19a4l 2691914 AR

71) GRS IQ 6396 JIRACEA 694 &Rl / JAR G66 FRIQT
FIRHE TRUIQ 69 699 6Q FF CANYER? , , ,
74) In which year did Subhash Chandra Bose resign from

A) Presidentship of the Congress?
qIg
B) 1939
C
) @GR C) 1942
D) adlig1 D) 1938

72) Which of the following countries was separated from

74) 609 Qd quI¥ 09 6919 @€Y @ 2UY I Q Y
India as result of the Government of India Act, 19357 =~
aQeem?
A) Aden A
B) Ceylon ) 1940
C) Bhutan B) 1939
D) Burma C) 1942
D) 1938

72) FARYE MRIQ 676 609 VIS AT AYFAT 1935 @
dREIFI9Qd RIAG Q@ ANG 6LIRAIRYMI?

75) Which of the following schedules of the Indian

A) Constitution deals with the Urban Local Government?
266R
B) aqag A) 13th Schedule
C) agle B) 10th Schedule
291 C) 11th Schedule
D) el D) 12th Schedule

73) Oceanic resources beyond 200 nautical miles of the

: . / : 75) QIae1a QRUIF Q FIRYS 2T FRIQ 6006 21 A1
Exclusive Egonom|c Zone, is the BEST example for which deria a86 ARG 26e?
of the following types of resources?
A) Abiotic Resources A) 13691 2990
B) National Resources B) 10691 21946
C) International Resources ~

) C) 11601 2998
D) Non-Renewable Resources

)

D) 1266 2gq@ TeChOfWOrldlﬂ
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Section 8 - Paperll-Science

76) From the top of a tower, a ball A is dropped and
another ball B is thrown horizontally at the same time.
Which among the following strikes the ground first?

>

) B
B) Simultaneously A and B
C) Depends on the masses
) A

)

76) % GIGIQ QUQ 69N O A ARLITRI IL° AAIS ATINER ARY
R R B AFILAIR QUFEQ T6k ARl 1 6A9FR FIIQ 680G geIer

@fiea 9ge?
Techofworld.In

A

B) 9@ ang6a A 9e° B

) B
)
C) 9@ QU6Q 561Q @6Q
D) A

77) Surface tension of water is 0.072 N m™'. The excess

pressure inside a water drop of diameter 0.6 mm is (Given,
cosB =cos0°=1)

A) 72 N/m?

B;480N/m2 Techofworld.In
)
)

C) 120 N/m?
D) 240 N/m?

77) 929 299 Q199 919 0.072 N m-'| 0.6 mm Q4Id 58 e
Gn O Q06Q UG QI (9§ ,cosb = cos0° = 1) 62Q8

A) 72 N/m?
B) 480 N/m?
C) 120 N/m?
D) 240 N/m?

Page190f23

78) Which among the following microorganisms

produces the immunosuppressant medication known as
Cyclosporin A?

A) Trichoderma polysporum
B) Clostridium butyricum

C) Streptococcus

D) Monascus purpureus

78) GQeIIQ 629 RIS ARCYEAIAR A FIFS RFYERIAEYAIS
AN TR RQ2IN?

A
B

) QIR6RIGT aR6QINE
) QEGAA QISR
)
)

C) casqeriag

D) srigaeq adaed

79) The process by which two or more species, genes or

phenotypic traits undergo adaptation as a pair or group is
known as

A
B
C
D

Structural adaptation
Behavioural adaptation
Co-adaptation
Exaptation

- —

79) 694 9B FIIFIEA 9R QI TY@ GRIT, FF @I gea1 F6ETG!

(6T6QISIRTR 686 IR 6LIG! QI 60V AR AFYRT 64R I
QQRIZIE, PI2Ig K QRILN?

A) RN AIRI6RR

B) Geaduam 2IeI6qQe
C) eal-2Ie1699e

)
)
)
D) ggqieqae
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80) A projectile is fired from the surface of the earth with 82) If a plant is placed in water and kept under sun,
a velocity of 5 m/s and angle 6 with the horizontal. Another bubbles of a gas is formed. Identify the gas formed.
projectile fired from another planet with a velocity of 3m/s

at the same angle follows a trajectory which is identical

: : a trajec A) Carbon dioxide
with the trajectory of the projectile fired from the earth. The B) Nitrogen
value of the acceleration due to gravity on the planet is oge
(Given, g = 9.8 ms?) C) Oxygen
D) Carbon monooxide
A) 16.3 ms™
masms: | €Chofworld.In
C) 110.8 ms 82) 94 6910\ Q8G] F% G6Q JdY G6R QAN IR FHIAR
D) 5.9 ms? 6TIORIGER YT 99 | 69T ANIAT Q41?
A) 2eHaRIe],
80) 5 m/s 6Q96Q 1Q° UQLUL QIIEQ O 6RNEEQ IR 6JASIY B) gesiaeie
W9IQ G690 QAUARI | &R Q@ 9eQ QY 9@ 684989 3m/s C) 2eeie
6Q0I6Q LelIR 6RIEI6R JYMYIQ F6R9 @ALINQ 6JAENLR £
< D) qi@
AGE GENTS 02 2GARE 969 | F29 JRAIATE FIREQ ARG ) Q96 A6AIIIEE
MY 6208 (9@ g=9.8ms ?)
) 83) In which of the following ways is the decomposition
A) 16.3 ms? reaction represented?
B) 3.5 ms?
C) 1108 ms? A) AB +CD — AD +BC
6 mS B)A+B —AB
D) 5.9 ms? C)A+BC —AC +B
D)AB —-A+B
81) Virus is usually composed of a protein coat and
83) 20Qee 9oTa AOriQ 69R AUINER JRFE RQIAN?
A) Lactic acid
B) Nucleic acid A) AB + CD — AD + BC
C) Citric acid B
D) Oxalic acid JA+B—AB
C)A+BC—>AC+B
R R D)AB—>A+B
81) QIR ARIIASIGS 67I9? demd G q 64Q 91087
A) QIqe 219, 84) A 150 m long train is moving to north at a speed of 10
B) quge i), m/s. A parrot ﬂying tovyards south with a speed of 5 m/s
crosses the train. The time taken by the parrot to cross the
C) aage 29 train would be
D) aqema 29 )5
ass 1 €chofworld.In
C)25s
D)10s
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84) 150 m fie@ @1d 9@ 66] 10 M/s 696i6a Aaag JIRE |

QB¢ 2IgQ 5 M/s 6896Q QAR e G2 60qg e KR8

16979 2Ioge *aQI AIR g2l Il FAULIRS AND 6298

A

)5
miss | echofworld.In
)
)

C)25s
D)10s

85) The roots that arise from the parts of the plant other
than the radicle are known as adventitious (aerial) roots
that are usually seen in a

A) Neem Tree

B) Wheat Plant
C) Carrot Plant
D) Banyan Tree

85) Q0QQ 6ReR YGRER Y ZrAQ 60a QITIRR GIRIg

21060dd2A (QINQ1L) 609 RIUN QITl AIASES FFRIQ
699 TIF6Q QKN

A) Gqog
B) gg¢l qig
C) qiga o8
D) eq g

86) Thermal capacity of 100 g of aluminum (s = 0.2 cal/g
K) is

(Given, One calorie = 4.2 joules)

A) 420 J/°C
B

)
oere. Techofworld.In
)

D) 84 J/°C

86) 100 g 2IpfRana(s = 0.2 cal/g K) 108 96161 6265 (4G,
4@ QUISRIAT = 4.2 gRd)

A) 420J/°C
B) 42 J/°C
C) 840 J/°C
D) 84 J/°C

87) Read the following statements and choose the
CORRECT option.

(i) Usually cells vary greatly in their shape and nerve
cells are some of the longest cells.

(i) The shape of the cells may be like disc, polygonal,
columnar, cuboid, thread-like or even irregular.

A) (i) is TRUE and (i) is TRUE
B) (i) is FALSE and (ii) is FALSE
C) (i) is TRUE and (ii) is FALSE
D) (i) is FALSE and (ii) is TRUE

87) G 2B9ER 003 6 A0Q 708 099 40g |

(i) ARJIQEIGS 6RIVILAA QG TOR NEA @R G 62IRAIN 8
9Ig) 61 6298 AQOIQ Rl 6219 |

(i)6RIVYERR QT T2 O, INTRIR, AR, ARIRIQ, B! AF
QI AFATQ YR 62IRAIER |

A) (i) 6298 09 G (i) 6228 0@
B) (i) 6208 @a 6 (i) 6208 gn
C) (i) 6228 0= G (ii) 6298 g
D) (i) 62e8 @ G (i) 62e8 O

88) Which among the following is the microbial control

agent that is generally used in controlling butterfly
caterpillars?

A) Lactobacillus Reuteri
B) Rhizobium

C) Bacillus Thuringiensis
D) Candida Albicans
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88) QAQ 600G Y@ AIRERIRNIR GAae W6ee gl

ARIEIGS IRIAG Gag FUAE RAQIEA QUL QAULIN?

A) QI6Q)QIANa R65R
B) cinssiaaq

C) eidng 2e8aeda
D) quidel 2IRa91Q

89) Read the following statements and choose the
CORRECT option.

(i) Lysosomes are non-membrane bound vesicular
organelles in the structure of an animal cell.
(i) Lysosomes contain enzymes that are capable of

digesting carbohydrates, proteins, lipids and nucleic
acids.

A) (i) is FALSE and (ji) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is FALSE
D) (i) is TRUE and (ii) is TRUE

89) &) @B9ER Jeg 8 AR T3R8 9UR K93 |
(i) AIACACHIF 6208 TR I LIRITS 6TICR @& Sef AILI IR
dIéI 6Q196Q 2N |

(i) ARCAIBRIT 6Q IRAIRF 2N QT RIEVILIRCLT, 67187, AT
3 QIS 7, AIPR QAR AXC! |

A) (i) 6228 ga G (ii) 6298 09
B) (i) 6228 0% 8 (i) 6298 N
C) (i) 6208 gn 6 (i) 6298 an
D) (i) 6228 0@ 6 (ii) 6228 09

90) The level of water in a tank is 5 m high. A hole of area
10 cm? is made in the bottom of the tank. The rate of
leakage of water from the hole is (g = 10 m/s?)

A) 10° m3s
B

D) 10® m%/s

Techofworld.In

)
owme  Techofworld.In
)

90) IR GIFEQ R 2R 5 M Q% | FIFQ eRRIFEx 10 cm? Q

Q@ 24l QIR | 98 AEQ AR 6QEIQ 210 6908 (g = 10
m/s?)

A) 10: m¥s
B) 10- m¥/s
C) 10 m¥s
D) 100 m¥s
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Answer Key
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31. B 61. B

C 32. D 62. C
A 33. C 63. C
D 34. B 64. C
D 35. A 65 C
A 36. D 66. C
B 37. D 67.

C

1.

2.

3.

4.

5.

6.

C

7.

C 38. A 68. D
C 39. A 69. A

10. B 40. A 70. C

11.

8.

9.

C

C 41. A 71

12. A 42. D 72. D
13. C 43. C

73. C

14. A 4. A 74. B

15. D 45. D 75. D

16. D 46. A 76. B

B 77. B

C 47.
18. A 48. A 78. A

19. D 49. B

17.

79. C

20. C 50. A 80. B

C 51. A 8. B
22. A 52. D 82. C

21.

23. D 53. D 8. D

24. C 54.B 84. D

25. C 55. A 8. D

26. D 56. B 86. D

27. D 57. D 87. A

28. B 58. B 88. C

29. D 59. C 8&9. A

30. B 60. B 90. C
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